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(—#RIKEN) H28.331
HARI KERX SEAH [EE=E XEMNRER XEMNRER RFREGEER
(AFRF) (BB -1ETH)
RRE 13 13 13 12 12
BB = 7 10 7 7 7
—H% KR 8 11 8 7 7
RiE 9 21 9 9 8
(H19) BSFq 7 14 7 6 5
ZD4h 11 22 11 11 11
&t 55 91 55 52 50
RRE 11 12 11 11 11
BB =L 7 8 7 7 6
ZHi4 KRE 9 9 9 9 8
Sk 10 11 10 10 9
(H20) Eili] 5 7 5 5 5
ZD4h 7 8 6 6 6
&t 49 55 48 48 45
RRE 9 11 9 9 9
BB = 6 5 6 6 6
=H4% KIRE 7 12 7 5 5
Sk 11 15 11 11 11
(H21) Eilig! 0 - - - -
ZDfth 5 12 5 5 4
&t 38 55 38 36 35
RRE 8 16 8 8 8
FE=EE 5 7 5 5 5
RER A KBRE 4 8 4 4 4
RiE 7 13 7 7 6
(H22) Eilig! 0 - - - -
ZD4h 4 9 4 4 4
&t 28 53 28 28 27
BRE 7 10 7 7 6
BB = 4 3 4 4 4
HH4E KR 5 6 5 5 5
Sk 8 9 8 7 7
(H23) Eilig! 0 - - - -
ZD4h 8 11 8 8 8
&t 32 39 32 31 30
RRE 6 6 6 6 6
BB = 4 6 4 4 4
NE K KR 5 2 3 3 3
F: 8 3 6 6 4
(H24) A 1 3 1 1 1
ZD4h 6 7 5 5 5
&t 30 27 25 25 23




(—#RAKEN) H28.3.31
HARI KERX SEAH [EE=E XEMNREH XEMNRER RFREGEER
(AFRF) (ERE 18 T HF)
RRE 4 4 4 4 4
BB = 6 3 3 3 3
tH#E KIRE 5 7 5 5 5
RiE 9 5 5 5 5
(H25) A 3 3 3 3 3
ZDfth 8 5 5 5 5
&t 35 27 25 25 25
RRE 8 7 7 7 7
= E 4 3 3 3 3
é};ﬂg) @x[ﬁf;g 5 6 5 5 5
>~ M 8 3 4 4 4 (%1)
(H26) Eilig! 3 1 1 1 1
ZD4h 15 7 6 6 6
&t 43 27 26 26 26
RRE 8 10 8 8 8
. FR=ma 6 4 6 6 5
7 AIRE 4 5 4 4 4
(R E) RiE 9 3 4 4 4
(H27) [l 5 3 3 3 3
ZDih 16 3 3 3 3
Bt 48 28 28 28 28
RRE 6 5 6
. RE=AE 5 3 3
4 ABRE 4 7 4 )
() = m 2 5 (F5#)
(H28) ol 5 2 2
Z D 18 4 4
&t 48 25 24 0 0
RRE 80 94 79 72 71
BB = 54 52 48 45 44
KBRE 56 73 54 47 46
& i Mg 89 87 69 63 58
Eilig] 29 33 22 19 18
ZDih 98 88 57 53 52
Bt 406 427 329 299 289
X1 N\BEOXERZRE262 D55, F2E O 2L FEK (RE28) >FIROR2EL 5 L>T. NBIREES
(Z#kKEAN) H28.3.31
HARI KERX SEAH IEEH TENRER ZEARER REFMEEHR
(NEHF) (ERH-1E T H)
RIRE 1 1 1 1 1
—HE FH=HE 1 3 1 1 1
(&I EE) KBRE 1 0 1 1 1
N 1 0 0 0 0
(H25) B i 0 0 0 0
Bt 5 4 3 3 3
RIRE 1 3 1 1
—Hax | BBEAE 1 0 0 0
(EEIE) ABRE 1 0 1 1 (€-34:))
NiE 1 0 0 0
(H26) B i 0 0 0
Bt 5 3 2 2
RIRE 1 2 1 1
—_ FHE=AE 1 1 1 1
= ABRE 1 2 1 1 X
(IR = ] ] ] " (EREH)
(H27) ] 1 1 1 ]
Z D 6 1 2 2
&t 11 8 7 7
RRE 3 6 3 3 1
BB =L 3 4 2 2 1
KRE 3 2 3 3 1
& i NiE 3 1 1 1 0
Eilig] 3 1 1 1 0
ZDih 6 1 2 2 0
Bt 21 15 12 12 3
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(Z&;KEN) H28.3.31
HARI KERX SEAH [EE=E XEMNRER XEMNRER REFMEEN
(AFRF) (BB -1ETH)
RRE 8 39 8 8 7
BB = 4 6 3 3 2
—Hx KIRE 6 24 6 6 5
(HZO) Wiﬁ 6 8 6 4 4
£l 1 2 1 1 1
&t 25 79 24 22 19
RRE 8 13 7 7 6
BB = 6 6 6 6 5
—Hx KIRE 4 9 3 3 3
(H21) Wiﬁ 6 9 6 6 5
£l 1 4 1 1 1
&t 25 41 23 23 20
RRE 8 10 5 4 4
BB =L 5 4 4 3 3
=HE KIRE 5 14 4 1 1
(H22) Wiﬁ 6 7 6 5 5
£l 1 2 1 1 1
&t 25 37 20 14 14
RRE 8 9 6 6 6
BB = 5 6 4 3 3
mAE ABRE 5 7 5 5 5
(H23) Wiﬁ 6 4 6 4 4
£l 1 1 1 1 1
&t 25 27 22 19 19
RRE 8 3 3 3 3
BB = 5 2 2 2 1
RAE KRE 5 6 4 3 3
(H24) Wiﬁ 6 0 0 0 0
£l 1 1 1 1 1
&t 25 12 10 9 8
RRE 8 2 2 2
BB = 5 0 0 0
£ XIRE 5 0 0 0 BT
(H25) Wiﬁ 6 2 2 2
£l 1 1 1 1
&t 25 5 5 5
RRE 3 5 3 3
4% FE=mE 3 5 3 3
(FHIE) KRE 2 2 2 2 (ERH)
RNiE 2 3 3 3
(H26) e[ _ _ _ —
&t 10 15 1 11
RRE 4 6 2 (%1) 2
J\EA&E FH=AE 2 3 2 2
(FHIE) KRE 2 3 0 0 (i)
RNiE 2 5 1 1
(H27) e[ _ _ _ —
&t 10 17 5 5
RRE 3 6 3
FLERAE FE=AE 2 2 1 p
() N 2 2 1 Egiﬁégﬁii
RiE 3 4 2
(H28) e[ _ _ _ —
&t 10 14 7 0
RRE 3
+Hi4E FE=E 2
(FTHIE) KRE 2 (FiiR: - H &)
F: 2
(H29) e[ 1
&t 10 0 0 0
RRE 61 93 39 35 26
R =05 39 34 25 22 14
A = KIRE 38 67 25 20 17
=R N 45 42 32 25 18
£l 7 11 6 6 5
&t 190 247 127 108 80
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